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et & forw srgeer /Instructions to the Candidates

1. mmhmﬁmmmmmwtmw s fafae afer § fRAw

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.
2. -9, 80 Tl A FI WA-GRAF F T AR AR wdww A afey 02 we g

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
02 hours.

3. 9R RFedt wfea argfrss TR & woT g, fSad 3 b vs anifesw s9 & @@ gam
The questions will be objective type with four options out of which only one will be unambiguously correct.

4, 939% wea FTAT 0 3% g A 9AF 97 I F AT 25 3w Frer swam
Each question carries 01 mark and .25 mark will be deducted for each wrong answer.

FUAT GET T ZW/P.T.O.



5. 9esl & 3ok & & fav q@ly 9fcr BT a1 ATHIN Icar-gieas & sroefr|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3O AE/FTEAT FHTET F dTer TS U W HTANR 3k~ Gfeas & wafta sifaet b 3ifha & A
e T TG FLATE|

You have to select the right answer by marking the cofresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. UH YR F AT e I & R IS Sl AT Sreem)
Multiple answers for a question will be regarded as wrong answer.

Question bookiet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.

O, Te-FRTaRT 2% 3T A T 3HeEAE W o
Enter your Name and Roll Number correctly in the question booklet.

10. HTANR Sear-giEaan 7 T vfafscar sy wardl & afaage ¥ & & i i arfge)
All entries in the OMR answer sheet should be with blue/black ball point pen only.

1. 9drem gier 7 fadares i sufeufa # & oy gie-feee W graner S aifgu|
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers. calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over

the original OMR answer sheet fo the invigilator and retain the duplicate copy with you.

14. TeA-QREeT 31T et 9T T W B
The question booklet can be retained by the candidates.

15. BT & T EE ¥ SN 3rsnfEat e g ovsa iy sl adi ¥

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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%A - T/ Fireman - A

gl A B S FQ § S S R TR 1 a 27

Which type of lens is used to correct Presbyopia?

(a) JTFad 99 /Concave lens (b)  ©IE @9/ Plain lens
(c) Tewiwel @7/ Bifocal lens (d) 39 @8/ Convex lens
i few o fom 6 afifr & -

The perimeter of the figure is

4cm 5c¢m
3cm

(@) 15cm (b) 24cm
() 12cm (d 60cm
Ohms FFF &I T+ U § -
The graph representing Ohms law is a:
(a) @/ Linear (b) =9 FH / Cosine function
(c) WIFE/ Parabola (d)  ifowee™ / Hyperbola

T 2.5 ohm i TR % =16 W 10 V & 9977 3l H TR A1 8) 398 vafea SRareh g
W& 1 9 187

A potential difference of 10 V is applied across a conductor whose resistance is 2.5 chm. What
is the value of current flowing through it?

(a) 10A (b) 2A

() 6A d 4A

9Ty, SNy, AUy & THR B)

Cirrus, Nimbus and Cumulus are types of .

(@) ®=/Clouds (b)  3Nihg Wi/ Orchid plants
(¢) g/ Lemon (d) I F / Sea waves
¥, T & g yml = o 1 W' E # g gl

Blood from the heart is pumped to different parts of the body through

(a) JEi/ Nerves (b) @R / Lymph

(¢) Thwadt/ Veins (d)  =mfEi/ Arteries
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10.

11.

12.

R T g 1 R T % % wuE 8, A 98 e S 8 -

If the displacement of an object is proportional to square of time, then the object moves with
(a) THEU & / Uniform velocity (b) THUEH Tifdat® / Uniform acceleration

(c) ¥gal Ay / Increasing acceleration  (d)  H&dl nfqad / Decreasing acceleration

ﬁgmﬁa%s@aﬁ,Tﬁ?ﬁﬂm,ﬂawﬁﬁ;mﬁaaﬁmﬁ%mmwﬁaﬁ%ﬁaﬂxmél
788 MAhIH -

A goalkeeper in a game of football pulls his hands backwards after holding the ball shot at the
goal. This enables the goalkeeper to

(a) AT % afEda & & FI 91 Ut & / Increase the rate of change of momentum
(b) a1 % qftedd & <X T 9T Gehdl 2 / Decrease the rate of change of momentum
(¢) e W itk oot M @bl & / Exert larger force on the ball

(@) T W, 7ig U I T a F "1 aFal 2 / Reduce the force exerted by the balls on the
hands

7t et & 9Ri i argAvsa 7 & 1, g w1 e

If there were no atmosphere around the Earth, the temperature of the Earth will
(a) @M/ increase

(b) ®=Ed@T FR3T / go on decreasing

¢ fad Tom AR @ 8 "N / increase during day and decrease during night

(d 1 37T Td 93/ be unaffected

WA X 39N W v Raefa st ek 89 wEl wen?

Where did India play its 1°t one day international cricket match?

(a) °hgH ¥/ Lords ()  &féeht %/ Headingley
(¢) <A ¥/ Taunton (@ @ U/ Wales

3 ifed qari aeEl F B (8) F SgE 1:2 % 3l IR STl H UM 4: 1 B) I AR
T IFIE @ -

The ratio of the radii of two right circular cylinders is 1: 2 and the ratio of their heights is 4: 1.
The ratio of their volumes is

(@ 1:1 b 1:2
© 2:1 @ 4:1

If2 ww FHI =1 @ F, 4 Q BT F FA b WH 2, A 98 FHw ] -
If one angle of triangle is equal to the sum of the other two, then the triangle is

(a) TH H‘Hﬁ?ﬂg f3=Iv1 / an isosceles triangle

() TH qEH st / a right triangle

() TH arftrE-ioft 5= / an obtuse-angled triangle
(1) TS g B/ an equilateral triangle
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13.

14.

15.

16.

17.

18.

19.

& aash B i oftf 60 m #1 3@ &R € -

The perimeter of an equilateral triangle is 60 m. The area is
(a) 10V3 m? (b)  15V3 m?
(¢) 20V3 m? (d) 100V3 m?

“A” T TE] BN 10% @M W “B” B I9ar &1 “B7, 10% Ff (THEE) R i@ “A” B S=ar 1 @ HR
¥ -

“A” gells an article to “B” to a profit of 10%. “B” sells the article back to “A” at a loss of 10%. In
this transaction:

(a) A 3 B H %I THaA 781 / No loss for A and B
(b) A F 10% THEH §3/ A lost 10%
(© B H 20% THEH g1/ B lost 20%
(d AW 11% a7 el / A profit 11%

& ferd o T @ F, TeR 99 & wme, #, g Fdum oy R ar') IR fa A oy, o
50 ¥ &, @ WK a9 Ugel g hi g off -

A father said to his son, “I was as old as you are at present at the time of your birth”. If the
fathers age is 50 years now, the son’s age four years back was:

(@) 19 ®) 25
(© 21 d 23

7f “NOIDA” | “OPJEB” fran s 8, &t “DELHI” &1 I & -

If “NOIDA” is written as “OPJEB”, then what will be the code for “DELHI”
(a) EFMAK (b) EFAMK

(¢) EFMIJ (d) EFMIK

o T, T 7 R 2 e T w78 B g R R &
27

An accurate clock shows 7 O’clock in the morning. Through how many degrees will the hour
hand rotate when the clock shows 1 o'clock in the afternoon.

(a) 160° ' (b) 180°
{c) 144° (d 168°

Fie & w8 gEatt f Soft °§, 79 G A aIRY -
Find out the wrong number in the given sequence of numbers.
1, 2, 6, 15, 31, 56, 91

(@ 31 b)) 91
(c) 56 d 16
LEIR: ROk ) afafa F R B
Green colour of leaves is due to the presence of
(a) F®RHH / Chloroprene (b)  FANSBH / Chloroform
(¢) e / Chlorophyll (d) E/ Chlorine
5
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20.

21.

22.

23.

24.

25.

26.

Werht & weiy Ff FM 2 -

FM with respect to a radio stands for i
(a) 31TE{F€1 wige / Frequency modulation  (b) EHTE[% TV / Frequency multiplication
(c) wifay yi=re / Firmware manipulation (d) A dew / Fast messaging

T 3w 1, ufq ad w, g itk S e wAwEn S 2l

National Fire Service Day is celebrated in our country on every year.
(a) 3 qr / 37 March b 24 8T / 24th November

(¢ 14 3%/ 14' April (d) 18 3R/ 18th August

T TS SR S HRIEH Y HEl S 8 -

The Indian human space flight programme is called .
(a) A/ Gaganyaan (b) HITEEH / Mangalyaan

(c) =HIE / Vyomayaan (d) ¥I=EH/Manushyayaan

£ zafRf % H, BT T @@ T H A 8

Human blood is red in colour due to the presence of

(a) ¥MFEARA / Haemoglobin ) SR / Lactoglobuhn
(¢) gfamfed / Hobgoblin (d) U/ Carotene
S L 1 =g TE asdl 2l

A lunar eclipse occurs when the
(a) g, gl I g ¥ 1em 3T & / Moon is between the earth and sun

() T, gt 3 g ¥ &/ 3777 2 / Sun is between the earth and moon
(c) g, T 3 W 0’ ¥ o9 a1 &/ Moon is between the sun and Mars
@) =i, g 3i gz % = 3 8/ Earth is between the sun and moon

et & aiEeo 1 A, HE fefimt o g1 & B
The axis of rotation of the earth is tilted by approximately degrees.
(a) 235 (b)y 425
(¢ 105 (@ 725
TEEUEEE SgE <t gern % fag ST 1 ITENT Y 3R @R & it 2

is a device used in a petrol engine car to reduce atmospheric pollution.
(a) AC/DC uftad / AC/DC convertor () HEEE/ Carburetor
{c) EvC| W9 / Fuel injector (d) Fafafes aREda / Catalytic convertor
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CNG # T gaee, fas swEm At $oav i ag e S g, 2l

The main constituent in CNG used as automobile fuel is .

(a) RIS/ Acetylene (b) T WHFAES / Carbon monoxide
{(c) &F/ Hydrogen (@) H®9/ Methane

o i Fnferdt Rm @ -

Sea of tranquillity is located on .

(a) 3¢S W/ Anatartica (b) IR W/ Alaska
(c) <A1 W/ Moon (d TS 78 W/ Mars
form 3w ¥ R veTS foud 27

Mount Everest is located in which country?

(a) WA/ India (b) 9T/ Nepal

(¢) Y2 /Bhutan () </ China

2024 sy srefRTa T g

The 2024 summer Olympics will be held in .

(a) &l / Tokyo ' () A/ Paris

(¢) WA/ Manila @ fash/ Sydney

Do W TR % T, e § e ge g & -
The main alloying elements added to iron to make it stainless steel are
(a) dfan 3R f4=6 / Copper and Zinc

(b) afar 3 HfET / Copper and Chromium
(c) frer 3R eI / Nickel and Chromium
(d) fr= 3 f%a / Zinc and Nickel

frm QT % T, Srefom e it g Tme vl #1999 27

Castling, Gambit and Draw are terms related to which of this sport?

(a) 9=/ Chess (b) H0E/Caroms

(c) ifer/ Bowling () e 2f@/ Table tennis

2017 §, gAR W woge # & TR TSR ATARRIT S5 o1 -
An interstellar object which passed through our solar system in 2017 was
(a) 3NFIMY3T/ Qumuamua (b)  diem 9T/ Yellow stone

(¢) W/ Maori (@ 1 =it/ Pan star
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34.

35.

36.

37.

38.

39.

40.

Ife T I F TS T I 20% w1 mn I, A 35 Sawa #§ fRaw s wga gft

The percentage increase in the area of a rectangle, if each of its sides is increased by 20% is:
(a) 40% () 42%

(c) 44% (d) &% THEAH W@ / Area remains same

s T PRI H1 YR 48 cm & 3R 381 H9 50 cm 3| 39 B 1 & @ -

The base of a right triangle is 48 cm and its hypotenuse is 50 cm. The area of the triangle is
(a) 168 cm? (b) 252 cm?
(¢) 336cm? (d 504 cm?

THF @ B Fow 3N I Al F T T w0 B wEhE s S IEs i W g R,
et 8 -

The themical process wherein natural rubber is heated with sulphur and other additives to

improve its properties is called

(a) forisRHw / Sterilization (b)  FehAIH / Vulcanisation

(¢) =/ Vitrification (d)  @gfF / Saponification

et tafie TR YCIH 1 G 997 3Ry &35 o f&ra 21

Satish Dhawan Space Centre of Indian Space Research Organisation is located at
(a) THMEET/ Rajagirikota () 9 =/ Port Blair

(¢) *fefer/ Sriharikota (@ #&gMit/ Mahendragiri

T | FH-T1 A9 Saoid 27

Which of these gases is flammable?

(a) TEA-TH-ATTAES / Carbon dioxide (b)  ATCH/ Argon
(c) TET HAEETES / Carbon monoxide @  @ifcEm / Helium

el ¥ HI H HIER, TE, qEH & 4

According to Charles Law, pressure is to temperature.

(a) LiRIERIG] T / Directly proportional  (b) FHATIAT! / Inversely proportional
(¢) W/ Equal (d) I A ¥ HIE 7€/ None of the above

faferfaa o & s-an foramy W A 27
Which one of the following is not a viral disease?

(a) 7L/ Dengue ®) @E€H/AIDS
(¢) <EHIES/ Typhoid (@ 9/ Influenza
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41.

42.

43.

44,

45.

46.

TR <N, UHA JqTaehTelig 98 g -

The national emergency number in our country is

(@ 211 by 112

(© 121 d 221

e g ufrm g, Red ae i wd e s o H ora e St ')
Galvanization is the process of protecting iron from rusting by coating it with

(a) f5=%/Zine (b) g/ Gallium

(¢) IegmiFm / Aluminium (d) @&/ Copper

for @el & T, Fafafaa o= @efte 2 qTH R, A MR 3T Aot R

With which of the below sports is the following terms associated — Bantam weight, Fly weight
and Welter weight

(a) fw=nfRaw / Gymnastics (b) gHeA / Boxing
(c) Te® / Golf (d) ©hiET/ Skiing
wiy, ag ¥ gaia g g, 3 -

Sound travels in air if

(a) YAET & H, Uh =W @ i & St 8 / Particles of medium travel from one place to
another .

() fr=r se / Disturbance moves

(¢) arAvsa | Tt 7€ Bt/ There is no moisture in the atmosphere
(@ H0 R faeT Io@, qF § T WH ¥ g WH § S € / Both particles as well as

disturbance travel from one place tc another

I T & FE B A, B W wE g &7

Which is the correct principle for the working of a pressure cooker?
(a) 9T %1 9994 / Condensation of Water

(b) Ut %1 9990 / Evaporation of water
(¢) TEE W HH 1/ Lowering of pressure
(@ FUH ﬁ'g 1 J4IeM / Elevation of boiling point

T& =ik 2 m A g0 F R A Iegail B e A T 2@ whar 21 W AR A seyD)
wfth $ A FT I T IF T AFA 8

A person can't see distinctly objects kept beyond 2 m. This defect can be corrected by using a
lensofpower_______ diopter (D).

(8 +0.5D () 05D

(0 +02D (d -~02D
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47.

48.

49.

50.

51.

52.

53.

&5 (Ha) anm, fafem st s v Sefiam, F TR 2
Lead Acid, Lithium ion, and Nickel cadmium are types of

(a) A/ Battery (®b) IS / Fire extinguishers
(¢) The 399/ Rocket fuels (d) 999 / Refrigerants

T T8 P, TGk G § 7 & T H G w1 FHgerdi g1

The property of a material to absorb moisture from the air on exposure is called
(a) W&/ Deliquescence (b) TN/ Osmosis

(c) 9¥ped/ Efflorescence (d) f¥E / Dissociation

S, ARG A1 S92 9/ 70 R, F HRW|

The sun appears round shaped or flattened due to

(a) JAIgAYSEHE 39TE / Atmospheric refraction
(b) I ol / Scattering of light

(¢) Y 1 fesqoa / Dispersion of light

(d) 3% ¥ ¥ F 7€ / None of the above

m@mqﬁﬂﬁwsmmé,a‘r&mm%ﬁﬂmmmwélﬁmmﬁm%?
When water is filled in a thin tube it appears to form a concave shape at the top due to?

(a) R frm/ Capillary action (b)  Gag oE / Surface tension
(c) Tuafwrge / Viscosity (d) TEETHYN / Gravity

i i 4 7 78 T R

Longitudinal waves can’t travel in

(a) 3/ Solid (b) M/ Gas

(¢) ¥I3I/Vacuum (d) &/ Liquid

640 AR F T e & wrn S @ 6 512 =Re % T 3= e afifee 21 AR fedt wfe
1 wgfes% g e e Y, s@ =t & o I= e afifee @) & v 2 -

In a sample study of 640 people, it was found that 512 people have a high school certificate. If
a person is selected at random, the probability that the person has a high school certificate is:

(@ 05 ® 06
€ 0.7 d 08
TF TSR B #1 9o i R -

Each angle of an equilateral triangle is

(a) 50° ®) 60°
(c)y 45° (d) 90°
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54.

55.

56.

87.

58.

59.

60.

dpx—-3y=128fFU g x=33My= ()R, AP AL -
x =3 and y = (-2} is a solution of the equation 4px ~ 3y = 12, then the value of “p” is

(a © () 0.5
() 2 (d 3
Fdar (f) % A § Iyl I 8 1
1s an instrument used to measure humidity.
(a) 999 97 ATl / Anemometer (®)  HHAYl / Seismometer
(¢) Jgammdt / Hygrometer (@ Ufim/ Ammeter
foa g & <gm T 27
Which planet has no moons?
(a) Tt / Mars (by ¥4/ Mercury
(c) I () / Uranus (d) 9®U/ Neptune

“M” & 3N “2V” 3 & & fivg i nfow =it 7 B2
What is the kinetic energy of a body with mass “M” and velocity “2V”?

@ MV ® S

(© MVZ d 2MV2

UREHEA ¥ T HT 7HE g

Pascal is a unit for measuring

(a) Cﬂﬁﬁi / Frequency ) fag@ s8§@ / Current
{¢) €19/ Pressure (d) d9AF/ Temperature
Imad gl O, afa w1 Rg @ |

The symbol of copper in the periodic table is

(a Co b C

(¢ Cu d Cr

qrt i WS B

Boiling point of water is y

(a) 100K by 273K

() 373K (d 100°F

11
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61.

62.

63.

64.

65.

66.

617.

1md- — & s 8|

1 miis equal to ___

(a) 10¥heT/ 10 litres ~ (b) 100 &L/ 100 litres

(¢) 1000t/ 1000 litres (d) 10000 #fteX / 10000 litres
aifeaw %1 g v § -

Atomic number of Sodium is .

(@ 7 ® 11

© 15 @ 17

T ¥ HH-T AR 27

Which is a base?
(2 HF ® HCL
(¢) NHs (d) H:S04

Frfeflea & @ SF-T1 IS F1 @O o 87

Which of the following is bad conductor of Heat?

(a) &g/ Iron (b)  FgEfEm / Aluminium
(¢) &S/ Rubber (d &1/ Diamond

T w75, uia fawat & 17, 25, 38, 40 3R 45 i WW F@1 B) 39 3ftwa el F1 feaw S -

A boy scores 17, 25, 38, 40 and 45 marks in five subjects. Calculate the average marks
obtained.

(a) 38 3% / marks (b) 45 3% / marks
(c) 26 37%/marks (d) 33 3%/ marks

i W e g w1 IR AR ‘g R, @, i W IwH a9 g

If ‘g’ is the weight of an object in earth, will be the weight on moon.
(@ g by g2
(© g4 (d g6
T, T9AF 3 g 1 ey Fq )
law relates temperature and volume.
(a) WA F FII / Boyles law (b) =TEH F1 FFA/ Charles law
(©) (a) 3R (b) €H1/ Both (a) and (b) (@ I9® F ¥ HIE T8 / None of the above
12

1474



68.

69.

70.

T1.

72.

73.

LPG & fwma & {ud, fvm &m =1 78 w0 wifze?

Which of the action shall be avoided during LPG Leak?

(a) TasfFal @1/ Opening the windows

(b) TR Fow Bl §¢ HET/ Switching off the lights

(c) LPG Uit &l 9= 31f% %1/ Switching off the LPG regulator

@

Al B u | SR e @1 i B @ieft 1/ Evacuating the building

‘A’ TF I B 3 T # qu wan 2, i B 36 wm w6 fam A qu wwan #) 3} A’ st B faere wm

¢ dl, 35 ®m H frad e 3 qu = A= &7

‘A’ can complete a task in 3 days and ‘B’ can complete the same task in 6 days. In how many

days the task can be completed, If ‘A’ and ‘B’ works together?

(@) 2f&/2days ®) 37A/3days
(¢) 4fF/4 days (d 5fa/5days
Ohms HT & -

Ohms Law is
(a) oY = TR x for@ 9918 / Resistance = Voltage x Current

(b) ﬁl’g?l a8 = dleed x " / Current = Voltage x Resistance
(¢ T watg = 9 /9RS / Current = Resistance/Voltage
(@) @RS = ﬁgﬁ g8 x falig / Voltage = Current x Resistance

‘Na’ 1 SqUH-3&01 & -

Mass number of ‘Na’ is

(@) 11 ® 12
(c) 22 d 23
%l Mega %ed €I
1s called Mega
(a) 108 (b) 10
(¢) 108 @ 10°
ISRO %1 SSLV &g IWg A= 9, # & & I T R

SSLV the Small Satellite Launch Vehicle of ISRO consists of __
(@ 2 ®) 3
¢ 4 @ 5

13

number of solid stages
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74.

75.

76.

71.

78.

79.

80.

T H HIE 1 FTHO FW areh Al B wE E -
The gases which obeys Charles Law is called
(a) Rl 19/ Real gas (b)  3Tes M/ [deal gas

(© (1) 3R (b) 3F1 / Both (a) and (b) (d) IIE # @ %IE €1 / None of the above

BTHA & INYR W, YA Fi T4 51 T HH AT 87

Which is the largest state in India in terms of area?

(a) I YW/ Uttar Pradesh (b) T %W / Madhya Pradesh
(¢) TUSEEH / Rajasthan (d) HBsWE/ Maharashtra
Jregfrfiam 3 -

Aluminium is

(a) . Uy gfl / Insulating material

(b) TR A / Conducting material

(¢) =TS WAl / Non-Conducting material
(@ I9E T ¥ HIE T8 / None of the above

78 92 pH % & 2
Solutions with pH greater than 7 are
(a) 3/ Acidic ®) &’/ Basic
(¢) e/ Neutral (d 39 ° @ %13 &1 / None of the above
wFsy I ==, gt AR W l B, quishal WeH S 2l
provides pigmentation for human skin, eye and hair
(a) Frenfas / Haemoglobin () AentH / Melanin
(¢) =R/ Chlorophyll (d) 3906 § § HI5 781/ None of the above
‘NSIL’ =1 foar 2-

Expand ‘NSIL’

(a) National Space India limited

(b) New Space India Limited

(c) National Satellite India Limited
(d) New Satellite India Limited

S S 1 A 4°C % 9TH TESdl 2 ot 3Tt WeAd 2l

Density of water as its temperature approaches 4°C.

(a) ®d/ Decreases (b)  Fgdl/ Increases

(¢ 9 &t 8/ Remains Same (@ s 8 A T 7€l / None of the above
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H= w1 & O o / Space for rough work
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